5.3.1 Limitations of RIP

What are the advantages and disadvantages of RIP?

Play the rollover on the right.

5.3.2 Enhanced Interior Gateway Routing Protocol (EIGRP)

What is EIGRP and what are the enhanced capabilities? (right)

5.3.2 (2)

What are the two main goals of EIGRP?
What is the metric used for EIGRP?

What is DUAL and what is used for?

When a change occurs in the network topology, what does DUAL do?

The administrative distance of EIGRP is 90 while that of RIP is 120. What does the lower number reflect?
See the administrative distance on the right.

5.3.2 (3)

Why is EIGRP a good choice for complex enterprise networks that are composed primarily of Cisco routers?

What makes EIGRP different from other distance vector protocols?

What are bounded updates?

How does EIGRP maintain knowledge of its neighbors?

Click play on the right.

5.3.2 (4)

Do the activity on the page.

5.3.3 EIGRP Terminology and Tables

What are the three interconnected tables that EIGRP maintains?

What is neighbor table and what is its function?

Click and play on the right.

5.3.3 (2)

What is topology table and what does it do?

How many primary loop-free routes for the topology table to identify for any one destination?

What is successor route?

What is load balance?

What is equal cost and unequal cost?

What is feasible successor?

Take a look at the rollover on the right.

5.3.3 (3)

What is routing table and what does it do?

How does EIGRP display information about routes?

Click each router on the right.

5.3.3 (4)

Do the activity on the page.

5.3.4 EIGRP Neighbors and Adjacencies

What are EIGRP neighbors?

What do EIGRP routers use hello packets for?

What is the multicast address?

What information does the hello packet contain?

5.3.4 (2)

When a neighbor adjacency is established, what does EIGRP do?

Thought what packets do neighbors learn about new routes, unreachable routes and other information?

When a route is lost, what does it do?

When a route is found, what does it do?

5.3.4 (3)

What is an acknowledge packet?

What information does an update packet send?

When is a query packet sent?

What is reply packet and what does it do?

Click and Play the DUAL on the right.

5.3.4 (4)

What is RTP and what does it do?

What can RTP be used for and how does it function?

What address does multicast EIGRP packet use?

What does each PDM maintains?

5.3.4 (5)

Do the activity on the page.

5.3.5 EIGRP Metrics and Convergence

What metrics does EIGRP use?

What is MTU and what is used for?

What are K values?

What is bandwidth metric?

What bandwidth value is used by most serial interfaces?

How does bandwidth influence the metric calculation?

5.3.5 (2)

What are the other metrics used by EIGRP?

What is a delay metric and what is the default value?

What is the delay metric used for?

What is reliability and what is the value?

What is load?

Is a lower load value more desirable than a higher load?

What does 255/255 mean?

5.3.5 (3)

What is FD, AD and RD?

What is feasible distance?

What is advertised distance?

Who becomes a successor?

What is a feasible successor?

Why does DUAL converges quickly?

Take a look at the figure on the right.

5.3.5 (4)

Do the activity on the page.

5.4.1 Configuring EIGRP

What is AS parameter?

What is the difference between this AS parameter and the autonomous system number issued and controlled by the Internet Assigned Numbers Authority?

What must the AS number in the command match?

What does the network command tell EIGRP about?

Look at the commands on the right.

5.4.1(2)

To configure EIGRP to advertise only certain subnets, what should be included?

How to determine the wildcard mask?

What are the two additional commands to complete the typical basic EIGRP configuration?

5.4.1 (3)

How to prevent routers from affecting and corrupting the routing tables?

What does EIGRP authentication require?

What is key chain name-of-chain?

What is key key-id?

What is key-string text?

What does ip authentication mode eigrp md5 do?

What is ip authentication key-chain eigrp AS name-of-chain?

Look at the figure on the right.

5.4.2 EIGRP Route Summarization

What many entries does EIGRP create in the routing table for the summary route?

What is the way for all routers to find the best routes for each individual subnet?

What is the summary route called and what are the subnet routes called?

What is Null0 interface?

If the packet matches the summary route but doesn’t match one of the child route, what will happen?

What will be the result to turn off the summarization?

What is the command to disable the default summarization?

Look at the command on the right.

5.4.2 (2)

With auto summarization disabled, what happen to all subnets?

What is the decision to summarize?

What is the advantage of manual summarization?

How is manual summarization done?

What command appears in the routing table as an EIGRP route sourced from a logical, not physical, interface?

Look at the figure on the right.

5.4.3 Verigying EIGRP Operation

What does show ip protocols do?

What does show ip route do?

What does show ip eigrp neighbors detail do?

What does show ip eigrp topology do?

What does show ip eigrp interfaces detail do?

Look at the figure on the right.

5.4.3 (2)

What is debug eigrp packet?

What is debug eigrp fsm?

Look at the figure on the right.

5.4.3 (3)

Do the activity on the page.

5.4.4 Issues and Limitations of EIGRP

What are the considerations limit the use of EIGRP?

5.5.1 Summary

Read the summary.

5.5.2 Critical Thinking

Do the activity on the page.

5.6.1 Quiz

Do the quiz on the page.

